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2.1.7 TIME_STEPPING

PLUTO has several time-marching algorithms which can be used in either a spatially split or unsplit
fashion. If At"™ = "1 — ¢" is the time increment between two consecutive steps and £ denotes the
discretized spatial operator on the right hand side of Eq. (1.1), the possible options are:

e EULER: 1°* (explicit) Euler algorithm is used to evolve from U™ to U""*:
Urtt =U" + At"L”

e RK2, RK3: 2™ or 3'd_order TVD Runge Kutta is used to advance the solution to the next time level:

RK2 RK3
U'=U"+At"L" U'=U"+At"L"

- U™ = 3(30" + U + AL (21)

Un+1 — %(Un + U* + Atnﬁ*) Un+1 — %(Un + 2U** T 2Atn£**)

When DIMENSIONAL_SPLITTING = YES, the operator £ in Eq. (2.1) is one-dimensional. Setting
DIMENSIONAL_SPLITTING to NO makes the scheme dimensionally unsplit and the right hand side
include contributions from all directions simultaneously. Unsplit implementation of the Runge-
Kutta algorithms usually requires a more restrictive CFL condition, see Table 2.1.

Pluto @ userguide.pdf &b



pluto : fEA7AE -- &R EELRH

cd Test_Problems/HD/Sod

cd testrun

cp ../init.c .

cp ../pluto_01.1in1 pluto.int

cp ../definitions_01.h definitions.h

python $PLUTO_DIR/setup.py > T 2/34f 5%:&IRL Thi+d &. makefile NER SN B,
make

./pluto

FRIERICHELRI DD T 71 )L

pluto.ini : FEENRFICTRAADHEARTE 7 7 1)L
definitions.h : > /N1 JLERFICFE A D YERERE
init.c : #HAZHE. BREEIEINEY —XO—R

ZDMICHERT 74 )LiFE. $PLUTO/Src LUITHh5MEEN S,




pluto : 7% - init.c
IR ZRET %o
void Init (double *v, double x1, double x2, double x3)

"L ILOETEIFTRE TS,
x1,x2, x3 H¥Zal—YarEROBEILE N EE
v I3HBEILDOMIBEDES, e.g., VI[RHO] = ZE., v[PRS] = £/

P e

———————————————————————————————————————————————————————————————————————————————————————————————————————————

iﬁﬁ*ﬁ:é IH:E? Do

|
i volid UserDefBoundary (const Data *d, RBox *box, int side, Grid *grid)

RO IEITIFEVHE N5,
iDmad=étWFﬁEﬁﬁ?%ﬁLwoeg,
' d->Vc[RHO][K][GIE] = k, j, VEB OEILDEE
L d->Ve[ VX1 [K][1H] = &, j, )BB OtIILD 1 RTEDEE
E d->Ve[VX2][k][1E] =k, j, VEE OEILD 2 RTHDERE
' Rbox box = #HEF D)L DEC5,
int side = EDEFREI ZRIEH, BSDOITZE[HEICTILHDHD,
-ijgmj VZalb—yarvoEEER e.g,
. Xlall = grid[IDIR].x; —RTTE DEEDEIZIFT 5

——————————————————————————————————————————————————————————————————————————————————————————————————————————
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pluto : A% - definition.h

AV NAILEFICAWS M S H1HAERRE

#define PHYSICS HD HD = iz X L WA E
#define DIMENSIONS 1 VZIaLb—¥ayvoORT
#define ROTATING FRAME NO EEEXRDMOERH D, U,

E) 2DH &, python $PLUTO/setup.py TT VI 5957« FTICEBULIEIEERIIE.
Z D definition.h ZE 23,




pluto : 75 % - pluto.ini
ST SN THRE,

|Grid]

ZERE D
TEIR —¥k grid
CREMA)  TFEfE w# (Uniform) _LER{E

Xl-grid 1 0.0 400 u 1.0
X2-grid 1 .0 1 u 1.0
X3-grid 1 0.0 1 u 1.0

CDFE., —RITDIVIaL—2a3rTx#ARZ 0-1.0 £T 400 4819 5,
[Static Grid Output]

output_dir runl € &, £&95&. run OFERMN runl WS T LI RJIZATEAD
DT debug LT LY, 7=7=L. ETHIIC runl T L7 FUZERLTEL,




pluto : fEEAZE - I—FDZEEI I8

EXZT«s LI MNUDETIC. $SPLUTO/Src U TO7 72 E—T %,

ZTDITT7AIDEREBITFEHODNTWNSIDONTHEZET 5,
QUIT_PLUTO(1);
ZIHALT, TCTHHERTI LS EZF v,
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| cd $PLUTO_DIR/Tools/pyPLUTO
|

|

pluto : A% E - pyPLUTO

python setup.py 1install

[syamada] $ ipython
In [1]: import pyPLUTO as pp

In [2]: datal = pp.pload(1) € —D2ODI77AIL&IZ, —D2O® data T2V FEERT S,
Reading Data file : /Users/syamada/work/software/pluto/PLUTO/Test_Problems/HD/Sod/testrun/data.0001.dbl

In [3]: datal. € 2 T7#HT L, RESATULD A VN—FEH, BIILHOMS,

datal.DataScan datal.SimTime datal.level datal.wdir
datal.DataScanHDF5 datal.Slice datal.nl datal.x1
datal.DataScanVTK datal.datatype datal.nl_tot datal.xlr
datal.Dt datal.dxl datal.n2 datal.xlrange
datal.NStep datal.dx2 datal.nZ2_tot datal.x2
datal .NStepStr datal.dx3 datal.n3 datal.x2r
datal.ReadDataFile datal.endianess datal.n3_tot datal.x2range
datal.ReadGridFile datal.filetype datal.nshp datal.x3
datal.ReadMultipleFiles datal.geometry datal.prs datal.x3r
datal.ReadSingleFile datal.irange datal.rho datal.x3range
datal.ReadTimeInfo datal. jrange datal.vars
datal.ReadVarFile datal.krange datal.vx1l
datal.rho
Out[3]:
array([ 1. , 1. , 1. , 1. , 1. ,

1. , 1. , 1. , 1. , 1. ,

1. , 1. , 1. , 1. , 1. ,

1 , 1. , 1. , 1. , 1. ,

LREREIND, HElE. matplotlib HETTAY T 5,




